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QUESTION 1

Which of the following can be used in a SELECT statement to set one or more qualifying conditions to a group of
records after they are formed? 

A. HAVING 

B. WHERE 

C. GROUP BY 

D. ORDER BY 

Correct Answer: A 

 

QUESTION 2

Which table type is always nonlogging? 

A. RAW 

B. TEMP 

C. STATIC 

D. STANDARD 

Correct Answer: A 

 

QUESTION 3

Which two statements are true about the COMMIT WORK statement? (Choose two.) 

A. The keyword WORK is optional. 

B. A single COMMIT WORK can end several BEGIN WORK statements. 

C. The COMMIT WORK statement releases all row locks but not table locks. 

D. All of the successful modifications that the transaction makes are saved to disk when you issue a COMMIT WORK
statement. 

E. A new transaction automatically starts after each COMMIT WORK or ROLLBACK WORK statement in a nonlogged
database. 

Correct Answer: AD 

 

QUESTION 4
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Which command listed below can be used to change the state of an operating Informix server? 

A. oninit 

B. onstat 

C. onmode 

D. onparam 

Correct Answer: C 

 

QUESTION 5

What is the minimum database-level privilage required for a user to create Stored Procedure Language routines? 

A. DBA 

B. Execute 

C. Connect 

D. Resource 

Correct Answer: D 
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